
PART# DJM2519-3/6 or 4/6

2019-2020 Chevy Silverado 

3” Front 6” Rear Lowering kit 

Notch kit: Part# FK2019-C
2)  Frame Support Brackets

2) Inner support Brackets

1) Upper Brake line bracket

12) 1/2” X 13 X4 1/2” bolts

12) 1/2” X 13 Ny-lock nuts

24) 1/2” Flat Washers

1) Rear end housing relocation bracket

1) 3/8” X16 X 1” bolt

1) 3/8 Washer

1) 3/8 Ny-lock nut

2) 3/8” X 16 X 1 1/4 Socket head bolt

Flip kit Part# FK2019-F
2) Lower Axle Brackets (1010A )

2) Upper Axle Brackets (1010P)

4) 5/8” U-Bolts (1025)

8) 5/8” X18 ny-lock nuts

12) 5/8” flat washers

2) 5/8” X11 X 3 1/2” tex bolts

2) 5/8” X 11 X 4” tex bolts

4) 5/8” X 11 ny-lock nuts

2) Spring plates (1025)

1) Brake line kit Part#BKLINE

Control Arms Part# CA2019-3
1) left Upper control arm

1) right Upper control arm

1) Upper bushing kit BK2653U (installed)

2) 6292 ball joints

1) left lower control arm

1) right lower control arm

1) Lower bushing kit BK2019L (installed)

2) 6015 ball joints (installed)

2) 1/4” X 20 x 1” set screw

2) 1/4” flat washers

2) 1/4” X 20 Ny-lock nuts

2) 5/8 Flat washers

4) grease fitting

1” Lift Shackles Part# SH1092

Add for 5” rear drop

Shock relocator Part# SE1119
1) Passenger side shock locator

2) 1/2” X 20 X 1” bolts

2) 1/2” X 20 Jam nuts

1) 1/2 X 13 X 1 1/4” bolt

3) 1/2” flat washer

3) 1/2” split lock washer

2) mounting blocks

DJM Suspension 580 W 184th St. Gardena CA 90248 310-538-1583  www.djmsuspension.com

DJM Shocks Rear only
Driver part# 1800 passenger part#2200


